
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

Complete Spare Parts List of  

Martin M6 

  

04222002 10K Ohm Lin Fader 45mm 

04222003 10K Ohm Lin Fader 60mm 

08220103 3.2x8 Pop Rivet Black 

08190404 4.2x13 Torx20 FH Selftap black 

05550021 Button for digiswitch , 1 hole 

11860279 Cable ButtonUBut Prog MaxxyzC 

11860278 Cable TBallCtrl Prog MaxxyzC 

05324102 Crimp Terminal small , 2.54m 

05501001 Digiswitch 

02205502 Digital encoder belt Blue LED 

05551058 Encoder knob black D=45 H=6 Axis=6 w. fingerhole 

05552009 Faderknob ALPS-RS4511119 Maxxy 

05552010 Faderknob ALPS-RS6011Y19004 Large 

05741613 Fan 12VDC 60x60x15 Low Noice 

05020014 Fuse 4 AT, high I*I*t 

05031004 Fuseholder chas.4.8mm angle pl 

05120701 Jumper 2 Pole 2,54mm Spacing 

05555217 Keycap Cherry - 

05555210 Keycap Cherry . 

05555218 Keycap Cherry / 

05555212 Keycap Cherry @ 

05555216 Keycap Cherry + 

05555028 Keycap Cherry < 

05555027 Keycap Cherry > 

05555200 Keycap Cherry 0 

05555201 Keycap Cherry 1 

05555301 Keycap Cherry 1 for LED 

05555310 Keycap Cherry 10 for LED 

05555202 Keycap Cherry 2 

05555302 Keycap Cherry 2 for LED 

05555303 Keycap Cherry 3 for LED 

05555304 Keycap Cherry 4 for LED 

05555305 Keycap Cherry 5 for LED 

05555306 Keycap Cherry 6 for LED 

05555207 Keycap Cherry 7 

05555208 Keycap Cherry 8 

05555308 Keycap Cherry 8 for LED 

05555209 Keycap Cherry 9 

05555309 Keycap Cherry 9 for LED 

05555221 Keycap Cherry Clear (Large) 



05555222 Keycap Cherry Copy (Large) 

05555229 Keycap Cherry Cue (Large) 

05555224 Keycap Cherry Delete (Large) 

05555219 Keycap Cherry Edit (Large) 

05555211 Keycap Cherry Enter (Large) 

05555213 Keycap Cherry Full 

05555228 Keycap Cherry Group (Large) 

05555227 Keycap Cherry Load (Large) 

05555223 Keycap Cherry Move (Large) 

05555000 Keycap Cherry No text 

05555225 Keycap Cherry Record (Large) 

05555214 Keycap Cherry Thru 

05555220 Keycap Cherry Undo (Large) 

05555226 Keycap Cherry Update (Large) 

05555026 Keycap Cherry v 

05555025 Keycap Cherry ^ 

05555203 Keycap Cherry 3 

05555204 Keycap Cherry 4 

05555205 Keycap Cherry 5 

05555206 Keycap Cherry 6 

05555307 Keycap Cherry 7 for LED 

05555215 Keycap Cherry Arrow 

05555018 Keycap Cherry Bank 

05555016 Keycap Cherry Delay 

05555001 Keycap Cherry F1 

05555010 Keycap Cherry F10 

05555011 Keycap Cherry F11 

05555012 Keycap Cherry F12 

05555002 Keycap Cherry F2 

05555003 Keycap Cherry F3 

05555004 Keycap Cherry F4 

05555005 Keycap Cherry F5 

05555006 Keycap Cherry F6 

05555007 Keycap Cherry F7 

05555008 Keycap Cherry F8 

05555009 Keycap Cherry F9 

05555013 Keycap Cherry Fade 

05555035 Keycap Cherry Go (Large) 

05555023 Keycap Cherry High Light 

05555019 Keycap Cherry Last 

05555037 Keycap Cherry Link 

05555034 Keycap Cherry ll/Back (Large) 

05555017 Keycap Cherry Macro 

05555014 Keycap Cherry Menu 

05555029 Keycap Cherry Mode 

05555020 Keycap Cherry Next 

05555024 Keycap Cherry P/T 



05555021 Keycap Cherry Preview 

05555033 Keycap Cherry Rel 

05555031 Keycap Cherry Select 

05555032 Keycap Cherry Snap 

05555015 Keycap Cherry Snap Shot 

05555022 Keycap Cherry Swap Prog 

05552008 Knop fader f. MAXxyz 

11860368 LED Backlight cable f. TFT screen 

26621080 M. TballBut Left MaxxC 

26621090 M. TballBut Right MaxxC 

08052701 M3 nut lock PA shiny 

08054401 M3 washer lock 3,2/6 black 

08050810 M3x10 cs torx black 

08050709 M3x10 ph torx black 

08053807 M3x10 stand off m6/f7 black 

08050714 M3x16 ph torx black 

08053826 M3x30 stand off m6/f7 shiny 

08050802 M3x6 cs torx black 

08050808 M3x6 cs torx tapt black 

08050702 M3x6 ph torx black 

08050700 M3x6 ph torx tapt spike black 

08053803 M3x6 stand off m6/f3 shiny 

08050703 M3x8 ph torx black 

08072701 M4 nut lock PA shiny 

08074303 M4 washer 4,1/10x1,25 shiny 08074401  M4 washer lock 4,3/8 black 

08071223 M4x12 ch low allen A2 DIN7964  08070808  M4x12 cs torx black 

08070415 M4x60 ph pz black 

08070708 M4x8 bh torx black 

08070805 M4x8 cs torx tapt spike black 

08112701 M6 nut lock PA shiny 

08110703 M6x12 bh torx black 

08111303 M6x16 cs allen A2 ds silver 

08111205 M6x22 ch allen black 

08111211 M6x30 ch low allen black 

62010538 PCBA ChannelSelect TEST 

62004547 PCBA Connector 3x(1x3pol) 

62013002 PCBA dc filter (Case lamp) 

62011024 PCBA Digital FaderDriv. TEST 

62010546 PCBA Tball Controller TEST 

62010542 PCBA Tball UpperButt. TEST 

62011035 PCBA USB/DMX 2048 MM TEST 

34240018 Plasticbag 250x360x40x0,04mm 

05342804 PowerCon NAC3FCA power input connector 

06150016 PSU MW USP-350-12 

08200102 PT 2,9x6,5 ph torx black 

08240118 Push/pull Latch, female, plast 

08240117 Push/pull Latch, male, plastic 



32020504 Rubber foot 

32020501 Rubber foot 38x10mm, Black 

13200012 Rubber grommet DA 80/110/20 

23401335 Rubseal base handle MAC550 DK 

05222804 Speakon Mains NAC3MPA chas. 

39041507 SSD Drive 2.5 SATA 

13104000 Strap,black,high temp,2.5x98 

02204506 TFT 3.5 320x240 8-16 bit parallel with Touch 

39100509 TrackBal 38mm blue 

14026004 Tube rubber d=4,0 D=9 (for m 

13101008 Wire Retainer Flexible 

 

 

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 


